AY X << €& Suppliers Zambia Limited

Line Description U/M Qty
1 BLT ASSY BOLT, HEXAGONAL 1S04014-M16X55-8.8-A3A EA 50
2 NUT HEX NUT, HEXAGONAL 1S04032-M16-8-A3A EA 50
3 WSHR FLAT WASHER, PLAIN DIN125-A17-140HV-A3A EA 50
4 WASHER, SPLIT WASHER SPRING DIN127-A16-FST-A3A EA 50
5 BLT ASSY BOLT, HEXAGONAL 1S04014-M24X120-8.8-A3A EA 50
6 NUT HEX NUT, HEXAGONAL 1S04032-M24-8-A3A EA 50
7 WSHR FLAT WASHER, PLAIN DIN125-A25-140HV-A3A EA 50
8 WASHER, SPLIT WASHER SPRING DIN127-B24-A3A EA 50




